

Smuts Street
Rocky's Drift
Nelspruit
1200

Smuts Street
Rocky's Drift
Nelspruit
1200

Kirk Distribution

Werner@kirkgroup.co.za

KIRK LOGISTICS NELSPRUIT

013 758 2285

GRV for Diageo South Africa - LRSA NR: 1949 (GRV)

Receiver: Goodwill
Checker: Goodwill
Warehouse: Clairwood
Sender Ref 1: 1055436092/DN11/JB3IBT
Receive Date: 2025-02-03
WarehouseRecv: Nelspruit
Sender Ref 2: 65323

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
787582	CM ORIGINAL SPICED 75CL		L50051F001	150	1800
787584	CM BLACK JAMAICA RUM 750 ML		L50101F001	75	900
793544	GORDONS & DRY TONIC (24 X 440ML)		AL24339CHI	360	8640
793528	GORDONS & PINK TONIC (24 X 440ML)		AL24340CHI	180	4320
789420	GORDONS GIN 12 X 1L		L43381J001	135	1620
789359	GORDONS DRY GIN 750ML (12 X 750ML)		L43541J001	520	6240
779448	JW BLUE (6 X 750ML)		L4085DN008	5	30
787267	SMIRNOFF 1818 (12 X 1L) PET		L43371H001	70	840
787269	SMIRNOFF 1818 VODKA 200ML		L43251G001	72	3456
782594	VAT 69 (12 X 750ML)		L50111F002	350	4200
				1,917.00	32,046.00
Total QTY Received				1,917.00	32,046.00

Checked By: _____

Receiver: JBK134FS

Transport Company: _____

Checker: Joseph Mosekedi

Driver Signature: _____

04/02/2025 02:49:13 PM

1/1

DELIVERY ADVICE

Sending Plant:

DN11
 Durban Warehouse
 Unit 3A, Clairwood
 Logistics Park
 4092 CLAIRWOOD,

Shipping Point:

LR Clairwood

Warehouse Bond Nos:

Receiving Plant: LR NELSPRUIT
 125 SMUTS STREET, ROCKY'S DRIF
 1200 NELSPRUIT
 SOUTH AFRICA

Shipment No: 1055436092

Delivery No: 5704597838

Order Number:

Warehouse Bond Nos:

Purchase Order No:

Haulier/Vessel:

Seal No:

Goods Issue Date: 29.01.2025

Customer Delivery Date: 03.02.2025

Receiving Plant Under Bond: Yes No

Shipping Instructions:

Material	ABV%	Quantity	UoM	Batch ID SLED/BBD	Supplying Plant Under Bond
787582 CM SpicedGold S 75cl 12X01	37.50	150 ✓	CAS	L50051F001 06.01.2026	[] Yes [X] No
787584 CptMrg Blk Jamc 75cl 12X01	43.00	75 ✓	CAS	L50101F001 09.01.2026	[] Yes [X] No
793544 Gord Pm Dry&Ton 440ml CAN 06X04 <i>4c</i>	5.50	360 ✓	CAS	AL24339CHI 04.12.2025	[] Yes [X] No
793528 Gord Pm Pk&Toni 440ml CAN 06X04 <i>2c</i>	5.50	180 ✓	CAS	AL24340CHI 05.12.2025	[] Yes [X] No
789420 Gordons Dry Gin 1L 12X01 <i>11B Short</i>	43.00	135 ✓	CAS	L43381J001 02.12.2029	[] Yes [X] No
789359 Gordons Dry Gin 75cl 12X01 <i>14B</i>	43.00	520 ✓	CAS	L43541J001 22.12.2029	[] Yes [X] No
779448 JW Blue 75cl 06X01	43.00	5 ✓	CAS	L4085DN008 25.03.2029	[] Yes [X] No
787267 Smirnoff 1818 1L 12X01	43.00	70 ✓	CAS	L43371H001 28.07.2049	[] Yes [X] No
787269 Smirnoff 1818 20cl 48X01	43.00	72 ✓	CAS	L43251G001 17.07.2049	[] Yes [X] No
782594 Vat 69	43.00	350 ✓	CAS	L50111F002	[] Yes [X] No

DELIVERY ADVICE

Sending Plant:

DN11
Durban Warehouse
Unit 3A, Clairwood
Logistics Park
4092 CLAIRWOOD,

Shipping Point:

LR Clairwood

Warehouse Bond Nos:

Receiving Plant: JB3 LR NELSPRUIT
125 SMUTS STREET, ROCKY'S DRIF
1200 NELSPRUIT
SOUTH AFRICA

Shipment No: 1055436092

Delivery No: 1055436092

Order Number: 5704597838

Warehouse Bond Nos:

Purchase Order No:

Haulier/Vessel:**Seal No:**

Goods Issue Date: 29.01.2025

Customer Delivery Date: 03.02.2025

Receiving Plant Under Bond: Yes No

Shipping Instructions:

Material	ABV%	Quantity UoM	Batch ID SLED/BBD	Supplying Plant Under Bond
75cl 12X01			13.01.2030	

Driver: Joseph

Sign: [Signature]

DATE: 31/01/25

Declaration: We hereby declare the foregoing to be a full and true account of contents of Goods Described

Signature of sender: [Signature]

Signature of receiving site:

Date: 31/01/25

Date: 4/2/2025



Liquor Runners



Setwyn@lr.sa.co.za

Liquor Runner Clairwood Clairwood

Http://www.lrsa.co.za

**IBT INSTRUCTION / DISPATCH NOTE
CONSIGNEE - LR NELSPRUIT IBT**

DIASA

TOTAL QUANTITY FOR IBT: 0

PRINCIPAL REFERENCE NUMBER

Number of Chepp: 28

1055436092/DN11/JB3IBT

IBT SPECIAL INSTRUCTIONS

Transport Company: LR Primary

Driver Name: Joseph Mosekedi

Expected Delivery Date: 2025-02-03

Truck Reg Nr: JBKT34FS

Transport Reference:

2025-02-01

65323

Dispatch Date:

06:00

Dispatch Time:

Driver Signature: 

LR Signature: 

No. of Seals	Received by Driver	Seal Number
1		0086331-0086340
2		
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		

ID: 80010205497085
 c/u: 0640017689.

LIQUOR RUNNERS

Durban

18:45 - 19:07

GOODS RECEIPT / ISSUE

Nº 54093

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME JOSEPH MOSEKEDI

HIRE TRANSPORTATION CO. (if delivered by Hire Vehicle)	
LOAD SHEET No: <u>54461</u>	VEHICLE REG No: <u>JBK 134FS</u>

CUSTOMER <u>LR NELSPRUIT</u>	DATE RECEIVED <u>31/01/2025</u>
------------------------------	---------------------------------

UPLIFTNOTE

28 PALETS 1055436092

	DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
		Cases	Units			
1)	J/W BLUE 779448 750ml	5				
2)	SMIRNOFF 1818 12X1000ml	70	1P			
3)	SMIRNOFF 1818 48X700ml	72	1P			
4)	GORDON'S GIN 12X750ml	510	11P			
5)	VAT 69 12X750ml	350	5P			
6)	CPTN MENT SPICE 600ml					
7)	12X750ml	150	2P			
8)	CPTN MENT Black Java					
9)	12X750ml	75	1P			
10)	GORDON'S TONIC GINS					
11)	20X 440ml	360	4P			
12)	GORDON'S PINK TONIC					
13)	CANIS 24X400ml	180	2P			
14)	GORDON'S GIN 12X750ml	135	3P			
15)						
16)						
17)						
18)						
19)						
20)						
PALET CONTROL: GKN BLUEZS#1						
OTHER						
TOTAL						

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: SPHA DRIVER: mtt

TIME COMPLETED: 18:38 PAGE: 01 PAGE: 01

